Name

1) FeS+__ H,80,~>__ HS+__ FeSO,

2)  ___ B(OH);~>__ HiBO, +__ H,0

3) __ CH,+__ 0,>__ CO,+__ HO

) CoS,+___ 0,>___ CaS.,04

5)  __ NyO,+__ H,0~>__ HNO,

6) __ Cay(POs)s*+__ H,80,>__ CaSOs+___ Ca(H,PO4),
7) _ Bi(NOJ)s+__ H.S=>__ BiS;+__ HNO,

8) __ CdSO.+___ H,S5—>__ CdS+__ H.S0,

9)  __ Fes(SOy)s+___ KOH=>___ K,S04+___ Fe(OH),

10) P, + 0, - P,0x

1) NaOH + ___ Zn(NO3), > ___ NaNOs + ___ Zn(OH),

]2) BGSOL} + _ NHL}OH - _ Be(OH)2 + - (NHQ)QSOQ

]3) MgNHL}POL} 9_ Mg2P207 t__ NHS + HQO

1) NaCl + __ H,S04=>__ Na,S04+___ HCl

STEMsheets.com


http://stemsheets.com/

Answer Sheet

1)

7)

10)

11)

12)

13)

)

L Fes + L HQSOQ 9L HQS + L FGSOL}

6 B(OH), > L H.B,0, + 7 H,0

2 CH,+ 5 0,~14 CO,+ 2 H,0

L C082 + i 02 ﬁi C08203

1 N,Os + 1 H,0 = 2 HNO,

L CO3(POQ)2 + l HQSOQ d i COSOQ .l L CO(HQPOL})2

2 Bi(NOy), + 3 H.S = 1 Bi,S,+_ 6 HNO,

1 CdSOy+ 1 H,S—_1 CdS+ L H,S0,

L Fe2(SOL})3 + Q KOH 9& KQSOQ + L FG(OH>3

1P, +50,>2 PO,

2 NaOH + L Zn(NO5), = 2 NaNO, + 1 Zn(OH),

L BeSO% + L NHQOH 9L BG(OH)2 + L (NHQ)QSOq

L MgNHL}PO% - L M92P207 a l NHS a L HQO

L NOCI + L HQSOQ 9L NOQSOQ + l HCI
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